rrrée::Jv

What is it trying to be?
Where is it going?



ELckaWay el cieating Histograms or
TEverntl it fromMmR=s:
Bimplement oneror 2 simple straight-
~ ToWardseeps
= Outet Joo:
= For eacl eﬁies
= Inner loop:
= For each elements of the ‘implied’ 1D array



g

Wiseiwsaesmpliea 1D array

8 Forreachivanahles, all anray dimensions are calculated
With it EA a2 7] d

“ArIE* has 2 dimensions: 6 aw

u For eacliddimension calculates the minimum size

' Withi=eEn O]

AN i Rl e NIE as 2 dimensions: 4 and 7

m Calculates fA il [21[j]+Floatlil[j] for @i,j) in:
= (0,0),(0,1)...(0,6),(1,0)...(1,6)...(3,0)...(3,6)
m |teration$ with return the ‘index’ in the above mention list (I.e.
6*i+])
m L ength$ will return the number of element in the list (l.e
4*7=28)




Othenrdeatur

sNheindex of an array can be a “formula”

| | therclasses ofi the ok ec@m the tree is

avallalle; onrcan call their members functions
ISNEEPAEXISHNGELX max(

f the objects are of different types, one can

cast to a specific type. The objects which are

NOT of that type (or an inherited type) are

skipped:
With T Shape *fShape:
“((TBRIK*)fShape)->GetVisihility()>0"



NEVWSEISIoMNEIStogram Size

SRARIIIL Les [0 cust emize bin numbers (in rootrc
zipleluitiplgife)pezll]
S

m | reeucriie:
1 rlist.Binrlnefar), e iz F of,Profix, Profy]

m In ['Tree::Draw
. mtree Jrruvv(“w >>hsort(500,10,20)¢
‘ 1 - binsi i x-direction

= 2 - lower limit in x-direction

= 3 - upper limit in x-direction

= 4-6 same for y-direction

m 7-9 same for z-direction



« Retlirn thescurrent entry nunm 9er; T Tree:GetReadEntry()
EIESS ) _
etunnl the. totallnumber: o entries; T Tree:GetEntries()
m Length$ |
s Return the total number of elements of this formula for
this entry: (like IalireeEemulac; GetNdata() )

m |[teration$

= Return the current iteration over this formula for this
entry (i.e. Varies from O to length$).




WarEeatlres

SPAEl/ 01 ORJECTES

u FixedN(@dded?) Sup or%for 1D and 2D
UfrlOrJJfrlJ Cuts

rv ﬂ[Ll:[ mrﬂra fies not only the list
~ of entries but also the internal

" conditions.

m |.e filters both the entry and the array
elements inside.




OnemNewssFeature

NIPYGPET treatments ofi strings and char
AlifieysS r Y 3

NI STHINENRSIEE alfiay/S

Variaeseng  af iay Inside a non-split

- [ClenesAray.

u Variable size arrays coordination

m (Between main fermula, selection and
Index formula)



QLisraricligle) & ugJ

u Checkalon oo]n'te@* that are O In the
metiee calling chain

Jandlingref vamable size array that

\ happens to be of size 1

m A few odd preblem with strings



I fTrecks e TCloflesAr ey i HRLE S
BNEeNISianian@ay of dounleinside I rack

_WYgrete SrJOIJJ o) he 'U OWIiNng do?

s> D)W (il recks Sipracks fiPeints] || Tracks.fAvgPoints|");
Fog ‘

u citner

fTracks] I |iPemtsd| = fiiecks] | |.fPomnts[f Tracks] | |.FAvgPoints]|

m Or

fTrackd | |.fPointg J]| - fiiracks| | |.fPaintg[f Tracks] J|.fAvgPoints]|




=EHLURENEIEn

CallmyrCINITTunctions (or macro file)
Alleywaarguments If function calls

In pa "'E]C:LJ I, Using a notation to be
defined), the CINT function will have
direct access to the entry data.




=EHLURENEIEn

AlIGYWHIGIOWIN g'(t’ anspa rently) TRef
eije] TReEfArEy

lmplemEnRt ldexs(Vananie,dimension)
Add aninterface to pass the histogram
by address rather than name

S



